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What does R0 mean?O
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What does R0 mean?

A hundred random outbreaks in a scenario 
where each sick person interacts with 10 others, 
and infects each one with probability 8 percent. 
Here R0 = 0.8 and the average outbreak size is 
five, but 1 percent of the outbreaks have size 50 
or larger, and in this run the largest has size 82.
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What does R0 mean?

A hundred random outbreaks in a scenario with 
superspreading, where 1 percent of the cases 
infect 20 others. As in Figure 1, we have R0 = 
0.8 and the average outbreak size is 5, but now 
the heavy tail of outbreaks is much heavier. In 
this run the largest outbreak has size 663.
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